N = 0 &8 AFH Y & A AN
2018 & 20l A LB AYP? HEXNAYL ~ AYP HAFH
SN 42T SIXED
M FooE nHed
ool gHUEXE PH2Y N CERED
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
Ay HHX R 18,795,869 16,642,912 2,152,957
2 14,037
T 20,000
Al 18,761,832
FUOE S A 3,379,846 1,989,705 1,390, 141
T 20,000
Al 3,359,846
geEgie 2829 N 243,272 311,299 NB8,027
2EZHA FE L XA 99,392 103,848 N4 456
201 L2 A Y| 45,898 51,798 A5,900
01 AFR2t2l bl 12,600 18,500 5,900
OEFE Y 2E8EFH 1,500& + 5000H 750
OAaZ L A=2H HOIA 5,500& * 5004 2,750
O3 &Y 70,000& + 58 + 103 3,500
OXFJAZE L=t 1,360
Oo=22= 120,000& + 49 =« 23] 960
ogst=s 100,000& * 49 400
OXMNRURE HB N LAIZ 1,440
OEL2LA(3Z) 1,000
-l 300,000 = 1Y = 23] 600
-Z 1 200,000& = 1 = 23] 400
Ot A (22) 440
-2 120,000& + 1Y 23] 240
-1 100,000 » 1H x 23] 200
OUAZTHA E82 &9 MZE 70,0008 * 403 2,800
02 352494l 33,298 33,298 0
O0IS& AdiE2dgZ 80,000& =* 409H 32,720
OHFANRHEH KA 578
ONEH= A 5,489,000& =* 8% 440
OBt= AL 939,450& * 8% 76
OS MM &I 768,120& * 8% 62
203 ¥R =&H| 12,000 12,000 0
03 A =X R =XH| 12,000 12,000 0
O A L HAHYAR FX
12,000,000& 12,000
206 M = Hl 9,952 9,952 0
01 & bl 9,952 9,952 0
O%F JI2J| WA 9,952
OJI2I ME(8X%E) 8,000& = 4504 3,600
OJt2D] 4,000& = 1,0007H 4,000
OEI=21 S(EAMAHLUE)
24,000& * 3& * 60H 432




SH MY #ENAD
HE: 0O IHLY
Sl BeEXs PESY X8 CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OUEE 2 (Adg2d,2d=22d)
160,000& = 204 * 604 1,920
301 LBt A= 20,982 20,982 0
02 et=2de k=2 19,422 19,422 0
O0lES & XH &sEH 2 647,400 * 158 * 23| 19,422
09 #HAIAHI BEAZ 1,560 1,560 0
oMY OISEES 29
10,000& » 13¥ «* 63| 780
oA"Y FOXXNFIAE2S &<
10,000& » 13H «* 63| 780
307 gizto| A 10,560 9,116 1,444
05 QIZtRES 10,560 9,116 1,444
O=Z3Y JiIZgJ| A2 L HEA
2,640,000 = 43| 10,560
M SMEX SA 85,800 130,500 N44.700
201 LBt | 78,300 120,000 A41,700
01 AP 22| d| 18,300 0 18,300
OXESSe ZZ0)YE 29 2UAIE
300,000& = 50 ~ 12€ 18,000
OXHEESS3 RIME 2 15,000€ * 204 300
02 E=22%H| 60,000 120,000 A 60,000
OXIEREFIE AX=
40,0003 * 250¥ ~ o6& 60,000
303 ZAZ2 6,000 6,000 0
01 ZAZ 6,000 6,000 0
024+ FE, H#ALNZRY BF
100,000€ = 10¥ * 63l 6,000
405 KHoHFE S HI 1,500 4,500 A 3,000
02 T A7 1,500 4,500 A 3,000
O=IH (HEXNZA) EHFL
12,5008 * 120& 1,500
ACH A S A XS 58,080 58,080 0
307 giztol A 58,080 58,080 0
02 QI2tAAMAIE E =X 58,080 58,080 0
OH=s MOISXEXNE2 3 AIYXSH
1,200,000& = 1302 15,600
OHES MOI224H3 MEX
1,200,000& * 13002 15,600
OHS HIEHAII/AS AIE XA
1,360,000& = 13004 17,680
OSt=XNREHY HSZ23 A XA
600,000& = 7 A 4,200




SN AgT HIXED
Hal: FOIOE IHEY
ool gHUEXE PH2Y N CERED
SN HH - (EH) - HRAY - BES 0l &k o4 il Hl DS 2
OSSoal NBSA] ASK=
5,000,008 * 1944 5,000
NEFESAL )52 178,486 160,706 17,780
HYIHORIO0E 2Y 178,486 160,706 17,780
307 £12+0| & 178,486 160,706 17,780
10 A ST A LB 22X 178,486 160,706 17,780
OTPHOROIY 298l BX  178,486,0008 178,486
7 Jls, 22 S, 2A AT 44,198 50, 168 A5,970
Y™ 8018 =7 20,460 17,506 2,954
201 Lyt FH| 13,460 12,280 1,180
01 Ak 22l 13,460 12,280 1,180
0% ALB DA R0 6,500
OFI| 422N 29
10,0008 * 50 23] 1,000
O#Al 42EDN 29
10,0008 * 50 * 23] 1,000
OF2eL AgANEA R0
10,0008 * 1008 * 13l 1,000
OANBASA 22 10,0008 * 1005 * 13] 1,000
OoABSH ARLA S0
10,0002 * 1005 * 13l 1,000
OoRZH AFEIAN R0
10,0008 * 50 = 1] 500
ORLNHB DA K0
10,0008 * 505 23] 1,000
O7H ALL I3 H2o A
70,0008 * 83l 560
OASZ WA 42 ABE 1,200
Ol Xt 250,000 * 43| 1,000
osgz 50,0008 * 43l 200
07y L= |
8,0002 + 10Z » 652 5,200
202 01t 7,000 5,226 1,774
01 2Uholdl 7,000 5,226 1,774
07F 22 =T ol
20,0008 * 10% * 352 7,000
NOID BHGE TEHESR 23,738 28,238 ~4,500
201 Lur2 HH| 23,238 26,738 ~3,500
01 At 22l bl 23,238 26,738 3,500
07 J=RE U B2 2,830
Oelste 5,0002! * 5000 2,500
O AR X} 11,0008 * 3074 330
OHFBNE MRTE2 15,408




SN AgT HEXAD
Bu: Foios 232y
ohelr R JIE EE,SH,ZA 2L (Sl & &)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Os&X 15,0003 * QIH AL = 32 = 128 4,860
OX X 13,0003 » QAL = 782 « 123 9,828
O=F2tX 5,000& * 40HAt » 32 * 128 720
o 2= MHMA 10,000& * 5008 5,000
401 AIEBI L 20HEI 500 500 0
01 A& Hl 500 500 0
O A Al 50,000& * 1004 500
HEE FAMEE =4 880,363 653,490 226,873
JHRe FA KA 22 670,343 430,874 239,469
201 £B-2dH| 630,239 323,610 306,629
01 At 22l 139,279 37,428 101,851
O MR I=4| 180
OZ28= 90,000& = 29H 180
ONWITA AMES =HE
75,0003 » 530 A& 3,975
OFAL ROIABIAIAE Y| 7,200
O+ &AM 400,000& = 33 1,200
O/ E M 500,000& = 12& 6,000
ogRUE===2 60,504
OsZJ ddF3IUeE==
330,000& = 12& = 304 11,880
Os&I HIEMN =22
122,000& = 18 = 304 366
OFEM 4 =8 1,200,000 * 93| 10,800
ORUAY = & Xl 300,000& * 93 2,700
OLBANEHE U =2 14,800
-SgE¥Lzd 3,100,000& = 13l 3,100
-AsJsE3E 3,100,000& = 13l 3,100
-E2EZ 860,000& * 103l 8,600
O=83 4 U =2 10,950
-MEE 15,000& = 200ton * 23| 6,000
-2y, 2MEX
15,000& * 330ton * 13 4,950
OMEHIIE Mol 700,000 * 123 8,400
Oagotd eIt WESEH|
200,000& = 13l 200
OdJ|etd eIt WESEH|
90,000& = 13l 90
OsZJtd2Ae Tt NEESHI
20,000& * 13 20
OMBAE otd22 T NS
298,000& * 13 298
OAtMWNEE =2 2 70,0008 * 23 140




SN AgT HEXAD
Bu: Foios 232y
el MEE BABY Z4 (el @2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OFAMSEINH 3= XZE 300,0008 » 128 3,600
oASHIS AA e (Y|
6803 * 6,278m x 13| 4,270
O&EAN A SN2l 4| 23,000,000& 23,000
OFA =& &e2ldl 2,700 » 4,495m * 33| 36,410
02 2324l 490,960 286,182 204,778
oz22= & HMA 400,004
o&dIIe3 29,500,000& * 12& 354,000
(OFSE R o= 3,000,000& » 122 36,000
OuUswY 4= 5002 = 19,488m * 13 9,744
OAotM S 2/l 60,000& = 13l 60
OdJIetdE 2e| &3l 200
-J+ i 100,000& * 13l 100
-g3ldl 100,000 * 13| 100
OAIE ZHIS X 90,956
OEMAZS FXHI 1,259& = 19,488m 24,536
Odwurg)l ZE o & &4
100,000& = 225CH * 13 22,500
OFNHZMAAE K22
540,000& = 123 6,480
OFE AMLED M ZE FXIHI| 1,000, 000& 1,000
OF A &J1&Hl S| 20,000,000& 20,000
OF A JIAEH S 12,000, 000& 12,000
Ost& 4 Hld sl
15,0003 = 7404 = 43 4,440
206 M= Hl 40,104 33,552 6,552
01 =8l 40,104 33,552 6,552
OBMN BAEE 24,624
HEESEXN 2 48
300,000& = 5& = 12& 18,000
OEAZZMAM 2 58
20,000& * 6& * 12& 1,440
oMl #HSE
1,7702 = 500 » 20 * 123 2,124
OFATH E2Al 2 38
63,7508 * 45 * 128 3,060
OFEAL AIE 22 ES 13,172
OAN&dE A2l M 100,000& *» 203 2,000
OLED & & 150,000& * 58 = 1004 7,500
O&IAZE &¢FHIl 2 58
40,0003 * 78 128 3,360
OaxA2E & 2RI 28
6,500 * 404 » 123 312
ogdI FR(IR)FY 1,286& * 2004 258
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2N
X ZH -
L= B

el

43 e o0
e 4
o M g
> 4o

£ 0z

o ox A
0¥ [0 Ho

)
i 02 &
0

SA BB O () - MM - HES il
=) g% 200,000& =« 2CH 400
-ExX =8 100,000& * 3CH 300
32X A 55,0002 * 8CH 440
-st=x S8 55,000& 404 220
OZMNdRE 3 2,920
-SEX e 90,000& = 2CH * 23| 360
-SEx A 50,000& = 104 = 23l 100
-SEX U 205,000& = 1CH = 23] 410
-Exx =8 105,000& = 304 » 23l 630
-3=2x A 50,000& = 7CH = 23] 700
-stE2x =8 90,000& = 404 23l 720
OAHZZ N2 (58,58 .312,S=1)
27,0003 * 2400 = 23| 1,296
OHBZFLIAN(SE & 32, E+1)
51,0002 = 24CH 1,224
OXt&E Xl 110,600
OsEXt 4,900,000& = 504 24,500
Osgxt 6,500,000& * 2CH 13,000
Ost= Xt 4,300,000& = 170CH 73,100
OC3HZHNZRA MHEES BE=
85,0003 » 649H 5,440
202 odl 3,750 3,000 750
01 = LH Yl 3,750 3,000 750
O3 AYFZE HSXE Al 3,750
o2 30,000& = 5% = 153 2,250
OZHLH 10,000& = 53 « 303l 1,500
405 KH&HF SHI 37,500 62,000 A 24,500
01 XML ESHS 37,500 62,000 A 24,500
OBZdAF ¢ 2,000,000& =« 1CH 2,000
ONE&dE== &R XE(CHA)
35,500,000& * 1CH 35,500
23 J|etxs 2 22 822,723 814,042 8,681
< 20,000
Al 802,723
OHE Aol HYEHEE S 420,979 386,494 34,485
201 LBt2d| 200,679 221,694 A21,015
01 At 22|l 39,800 38,200 1,600
O&FEZE AZEYN P2 39,800
Oostad Il A 260,000& = 502 13,000
OMS2 I & 450,000& = 50& 22,500
OgE=X 43,0004 = 100= 4,300
02 3322l 160,879 183,494 N22,615




SN YR #EXAD
I FOOGE PH2Y
chelr HE3 JjEESY 2 28 XY (ol ®e)
SA - ZE-B(EA) - NRAY - B S il &t o il RS2
OFMEH SIS 137,419
OagR A28 2026 (48504)
4,526,667 * 12 54,321
OagR A2g TaIH(1920H)
768,0009 * 122 9,216
Oatg: 21037 (230H)
5,040,251 * 12¢ 60,484
Oag: SsoALSI(190H)
1,046,500 » 12¥ 12,558
OUEHIIE HHEd D 2o23I1(1H)
70,0008 * 12¢ 840
OEOS/W AFE KX HI (2Hol &8 A) 23,460
OPCE #al Zz )y 28,0008 * 5002 14,000
OUWPCXIZID Z2 0 30,0008 * 100 3,000
oPcg MHelEEEs 34,0008 * 100 3,400
OAPC4.6(V3S Bt 22|22 M)
860,000 * 12 860
OAhnLab V3 for Net Server 9.0
440,0008 » 5= 2,200
405 Kt aHE SH 220,300 164,800 55,500
01 AL SEFSH) 220,300 164,800 55,500
OHH A2 HH LA 220,300
OV Z e (THA) 1,400,0008 = 70CH 98,000
OZgf 600,000 * 23CH 13,800
OZLRtIEH(A3EE) 3,500,000 = 1CH 3,500
OLE=(HH) 1,500,0002 = 2CH 3,000
oRoloiagz)| 25,000,000 * 3CH 75,000
OEstolagz)) 8,000,0002 = 2CH 16,000
OUHEHIIZHEAND 223
11,000,000 = 1CH 11,000
HEEA JBAL 29 381,744 427,548 A 45,804
201 Lt 304,744 317,228 A12,484
01 AL 22l H 2,000 2,000 0
ONEFHAA SHHH DI¥4+2
200,0009 * 10CH 2,000
02 2229t 302,744 315,228 A12,484
OSHUEEEH AEE 200,640
ORNFLESANLARE 170,400
-3 o Al(200M)
1,900,000 * 13| & » 12% 22,800
-7 < DI(30M) 900,000% * 53|M * 129 54,000
-7 o S(30M) 900,0009 x 83|M * 12% 86,400
-HEAGE AN
300,0009! * 234 * 122 7,200




SN AgT HEXAD
M FooE nHed
el MEE JIBEY 2 BE KR (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OFEE MER 24,240
-SR0S (512K)
200,000& = 53l & = 128 12,000
-? e85 JlE
30,0003 » 243 & » 12& 8,640
“MEsHgEE(2M)
300,000 = 13l &+ 128 3,600
OAl < 7 23|esE
500,000& = 13l& = 128 6,000
COYEHANMS MEZ 3,500,000& * 122 42,000
ogeANs AAEE 7,000& * 834 * 128 672
OQHYIH S&HAIESZ
33,000& » 203l « 12& 7,920
OFESNEH KX 2 51,512
OANEFEESHEUI 2,100,000& = 12& 25,200
@) FSFSE-IP) 125,000& » 4004 5,000
OFEEEIEX 97,000& = 12& 1,164
OANEHBA SFEFHI 330,000& = 12& 3,960
OdHFLSEHI 267,000& » 123 3,204
OCCTVE HI 400,000& = 12& 4,800
=3 2 SHHAS AlrH
497,000& = 128 5,964
OZAE S| 3,700& = 50CH » 12& 2,220
206 T2 HI 3,000 3,000 0
01 =8l 3,000 3,000 0
OFESHANE A2 XM 3,000
OuTP A0lI= 2 105 1,500,000& =* 23] 3,000
401 Al HI L 2T 63,000 80,720 A17,720
01 A& Bl 63,000 80,000 A 17,000
0% -3 FUSHEZ FHHI
5,000,000& = 23] 10,000
OH .= =LHMHEH CCTVE XIS At 53,000
Os FYHH CCTVE XIS At
15,000,000& = 300 & 45,000
OHAMEA CCTVA X 2 At
8,000,000& * 1JH A 8,000
405 XHoHF S HI 11,000 25,000 A 14,000
01 AL EZFH S 11,000 25,000 A 14,000
o738 ¥ O, 5 HIFRE WA
600,000& = 10CH 6,000
O F2SHUY RANE+8 SFFH 2L 5,000
OFls EEXIDI 5,000,000& = 1CH 5,000
DISYEAIASNA XA 20,000 0 20,000
< 20,000




SN AgT HEXAD
Bu: Foios 232y
& 23 Jigtxd 2 28 & (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
402 2I2HX 20 & 20,000 0 20,000
< 20,000
02 QI E2AL EZ (OIS ) 20,000 0 20,000
OBUAS(SUB, 4IIS) BSYEAAY X
20,000,000& * 1JH A 20,000
< 20,000
oY 2EHAM OIM 1,210,804 0 1,210,804
FANSExH 1,210,804 1,210,804
201 Let24dH] 173,016 173,016
01 At 22/ 147,366 147,366
ozgs EH ¥ 0ld HEX
100,000& * 311JH 31,100
OWtEl&E &N 12,0002 * 389 4,668
O ¥ S4Y HdBt WA ZX
2,000,000& 11042 22,000
237 24 € 0l MHEX 1,020,000& 1,020
QIot: Ol ¥ =& 200,000& 200
OAEA BFH Ol &XIHI
158,490& * 53 » 3« 2,378
OHFXAL SHAAH Ol 6,000
Oag-& TV 0ld &X 5,000,000& 5,000
Odgxd sS4 E &E4H 0™ £X
1,000,000 1,000
OH&usu AIAE X ZHH O/8&X 18,000
Octa =2, &EEE CCTV AIAE Ol &X
8,500,000& 8,500
Of4& MO ¥ XESAIAE Ol X
5,000,000& 5,000
OZ+=aEZHEIMAH Z CCTV AIAE
3,500,000& 3,500
OE2HZgHI 0ld &X 1,000,000 1,000
OAMRA EIIF 0l 62,000
OHFX W 2 274 62,000,000 62,000
03 A2 S HI 25,650 0 25,650
OAIE AL HE AL &AL 25,650,000& 25,650
401 Al HIZ 201 Y] 244,000 0 244,000
01 A& HI 244,000 0 244,000
OBMN BESH BAM 2,500,000 = 8OH 1t 20,000
O&HEAN 4 XIS A 32,000,000& * 270 £ 64,000
OFA =X2HAIAE HXIZA 80,000,000 80,000
OBA & 2ZIE HIJHE EXISA
50,000,000& 50,000
O&HAN =8 22 A & 32 &MY
0,000,000& 30,000




SAM e

X{ XH -
S =

CEHE .S (3H) - MBAY - B2 ﬁlf& HD=2
405 XHoHF SHI 793,788 793,788
01 Mt =S FSHI 793,788 793,788
O&A~EH F¢ 15,000
Ogs4a FAEH! 10,000,000& = 1CH 10,000
O A HAHY| 5,000,000& * 1CH 5,000
OZ2Y0lE FAMAX 345,000& * 2204 75,900
©O=2F A1 Ot AlAE 1,200,000& = 9CH 10,800
OYREES 369,179
OAMEA ZIHIE(ZE) 297,859
—E A 51,600
= NE= 600,000& * 9H 5,400
SRS E= 200,000 = 414 8,200
PN = 200,000& * 1904 38,000
-9 Xt 73,800
= A= 500,000& * 9H 4,500
ISR 300,000& * 414 12,300
SN =1 300,000& + 1904 57,000
-OISAMNMEH 49,800
22| XS 200,000 = 184 3,600
SRS = 200,000& * 4104 8,200
PN = 200,000& = 1904 38,000
-MA(Z2XE) 500,000& = 9JH 4,500
-2ER (22 XE) 300,000& * 9H 2,700
-IHEl & 90,436
= NE= 367,000& * 8Y = 5J 14,680
SRS = 214,000 * 419 * 404 35,096
PN = 214,000& = 190Y = 1JH 40,660
-5 XA 25,023
Zte| XS 252,000& = 9JH 2,268
ISP 185,000& = 41J4 7,585
N =] 185,000& * 82JH 15,170
O#HH X & 9,546
-3l g8E it 352,000& = 24 704
-3 o 2okt 238,000 = 1404 3,332
RESFIIES 310,000& * 1H 310
-4 301 E (Xt clal, 2REALA)
800,000& * 3H 2,400
-4 E (X clal, 2RIALA)
500,000& * 3H 1,500
-SEEX(S AR Al) 300,000 = 1JH 300
-EE2X=¢ 1,000,000& = 1JH 1,000
OOIJ X & 50,380




2N
X ZH -
L= B
el

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
-QIAHIIE Ol R 370,000& * 8K 2,960
-QIolE okt 400,000& = 1504 6,000
-3|ol gHI0I= 1,230,000 * 124 1,230
-3l 2 Xt 110,000& * 64 660
-0l S A& A It 1,910,000& = 204 38,200
-& X 20l 290,000& = 30K 870
-TveE & 460,000& = 14 460

O =Xt 1,604
-0I3aHeI 300,000& =« 10H 300
3o g E R (A 340,000& * 204 680
-39 SR (A A 52,000& = 1204 624

Os=s4&Z 2,820
-0l =g 310,000& =« 14 310
=AOHII2PRI AR &) 200,000& = 404 800
-STEX(IIZTHMAIRA) 210,0008 * 104 210
A E(JI2EH AR A 200,000& = 124 200
“RE(JI2ZH AR A 260,000& = 504 1,300

OAN 21t 870
-& X120l 290,000& * 34 870

OALusn 2,700
“HAERE 250,000& = 204 500
-3l EE X 260,000& = 204 520
-3l 2| o Xt 120,000& * 1404 1,680

Od=n 3,400
-3l ZE A 500,000& * 24 1,000
-3l 2 Xt 150,000& * 16K 2,400

OR2stuWa(Xdt1E) 10,465
Ox=LEEXT 314,000& = 2104 6,594
ot=sdEgox 79,0003 = 4904 3,871
O3dE(XotE, Na1s 24,640

OoZal 400,000& = 2K 800

OMZIT 300,000& = 204 600

Ol Ot 8,900,000& = 1CH 8,900

ORZ0IZE HBtE22t8  4,000,000& * 14 4,000

OZUHFASE e 300,000& = 124 300

ONEEHIEZE BE 40,000& = 14 40

Oogrsddl & ele&d 10,000,000 = 1ME 10,000

OZEAXNUIIA (XIBHE 9,842

O3elg Am 800,000& * 44 3,200

OCSTEX 346,000& = 204 692

O4¢el =% 413,000& = 54 2,065

OAE X 124,900 * 7H 875
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MM HESHBH (MY SFAM)
erel: Jl= 2| (29 a8)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
oRERE 15,220
Ogbt 300& * 25,0000H 7,500
O8I 1,930& = 4,0000H 7,720
202 04| 46,368 15,120 31,248
01 2LHOHI 19,968 15,120 4,848
©J| =&l
20,000 * 13 x 82 * 128 * 80% 19,968
02 AN Y| 26,400 0 26,400
OJ|IEZHI 200,000& = 114 * 12& 26,400
203 YR =&Y| 8,160 4,200 3,960
04 2SI L RF=AH| 8,160 4,200 3,960
OJENH 8,160
03021 0| at 400,000 * 12& 4,800
O30 =1t 5,000& * 56Y x 12& 3,360
405 XHaHF S| 420 0 420
01 M =S FSHI 420 0 420
(OFaE=P] 70,000& * 6H 420
ol 2 HAHY| 3,711,184 3,548,872 162,312
SIoAHE*22X B 3,711,184 3,548,872 162,312
101 @121l 3,711,184 3,548,872 162,312
03 2INHA=ZZ2XHE %= 3,711,184 3,548,872 162,312
ostd el o2 (15E 0|4 3,711,184
oJl=3 1,905,990& = 2% * 12& 1,418,057
[Or g = 803,379
|2
2,225,990& * 50% * 62 x 43| 276,023
-Xl & ¢ g
2,225,990& * 50% * 62 x 53] 345,029
8324
2,225,990& * 50% * 62 x 23| 138,012
-H A2 1,905,990 * 37.5% » 62Y 44,315
O g 878,647
SExgR3IAMY
90,000 » 62Y = 12& 66,960
“SAMAH 70,000& = 62 * 12& 52,080
-HI2 Yot =2 80,000& » 62Y = 12& 59,520
-tExY 80,880
- B 2 Xt 40,000 » 52H = 12& 24,960
cES 20,0003 = 42 * 12& 10,080
B (PIE 20,000 » 43H = 12& 10,320
- EMXE 60,000 = 31 = 128 22,320
O DAY E 100,000& * 118 = 12& 13,200




2N 4YD BAAMD
B #HSAAL (MY SFIMD)
chel: ol gyl CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
IS xS 24,298
nss 433,880 * 14H =« 43| 24,298
-“EU2RE 594,909
N2
242,310& » 6298 » 128 180,279
guaesg
121,150& = 62Y = 32 = 12& 270,407
o224
8,077& = 62H » 24 * 123 144,223
O=cl=4dl 284,654
—Z gAY 160,000& » 62 = 12E 119,040
- E E0H)
2,225,990& * 60% * 62Y * 23| 165,614
O=d=X 101,520
- 4l 80,000& = 629H = 12& 59,520
-AEsE 50,000& = 62 = 12& 37,200
Ry 200,000& = 1H » 123 2,400
“E A (LX) 200,0008 * 1Y « 12€ 2,400
Ogresst=E
129,230& » 62% * 20 160,246
OEEsgHl 8,000& = 62H » 20 9,920
ozl =t 52,700
-l =l 90,000& = 62YH » 63 33,480
-gek=s 100,000& * 62 * 13 6,200
=) 15,000& = 62 = 23| 1,860
—-OtM 3t 60,0003 * 62 * 23| 7,440
-Z st 15,000& = 62 = 23| 1,860
-9 15,000& = 62 13| 930
-orM 2 15,000& » 62 » 13 930
OgtZ2eld mazE eSSt (AR
17,500& = 5% « 33 263
Otz aed =2 WY& SHI(471)
29,0003 * 62Y * 13 1,798
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2018 = =0 & LA A I ~ &7 AFY
SN Mg ALDED
A WG EExH
el Jt2 . 8etE |XZel (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
AT Ad8nsn 15,060,338 14,942,539 117,799
= 80,000
< 24,000
Al 14,956,338
RS S EEL 2,227,026 2,192,570 34,456
2 28 sX2el 2,227,026 2,192,570 34,456
tzgEets A& & Wi 429,068 428,060 1,008
401 Al HIZ 201 8] 429,068 428,060 1,008
01 A& HI 426,000 425,000 1,000
oJz=Eets de & W
2,000,000 * 809 A 160,000
OJlzEets SII7 Wi
1,500,000 = 700H & 105,000
oLsds &X 1,000,000 * 700H £ 70,000
oOL® H2S FTIlg i
7,000,000& » 13044 91,000
03 Al 2 THHI 3,068 3,060 8
OJNzLEets A& E i AEZR0H]
426,000,000& * 0.72% 3,068
2 - 2otE 2l 1,797,958 1,764,510 33,448
201 Let24d] 1,404,654 1,391,350 13,304
01 At 22l 31,450 21,850 9,600
OJ2E HIILH HH===2 21,350
ozdg 51,040 » 25004 & 12,760
Oonzs=x 8,590&  1,0002 8,590
OJz22etsE B+ YA U=l 500
o= 90,000& = 29H 180
ogs= 100,000 * 2% 200
O¢otH 5t 60,000& = 2H 120
OJ2E RANE=E I Xz
800,000& = 12& 9,600
02 =224l 1,373,204 1,369,500 3,704
OJtz2=2ets HMIIRS 1,356,000
OJnzs 260,000& = 250004 = 123 780,000
OEets 7,5008 * 6,400 * 12E 576,000
OJzsS 2Ye 8| SHe=s
4,500 * 250004 * 128 13,500
ON2sS SFANESE g RFHI
1,286& * 124 = 240 3,704
206 TH 2 Ul 71,000 71,000 0
01 =4l 71,000 71,000 0
ojtz=ets 28 MM 71,000




SN Mg ALDED
M YHES JI2EHBXAH
Sel: DR 2oS R (29l 8)
SA - BB (BH) - MEAMY - BYS ofl &t o SSa HDE2
OBots #HD| 80,000& * 100K 8,000
OJtzsggts 84| 1,800,000& = 1074 18,000
OLNAULHEE &I 1500 18,0008 * 4004 7,200
ONAULHEE &I 2500 20,000& * 4004 8,000
ODNAUHEE &I 1500 17,000& * 4004 6,800
ONAUHEE 2&-HI| 2500 20,000& * 4004 8,000
OLEDS 13 70W 700,000& = 1074 7,000
OLEDS I+ 120W 1,000,000& = 8JH 8,000
401 AIEHI L 200 322,304 302, 160 20,144
01 A& Hl 320,000 300,000 20,000
OJlzeEots B4 200,000& = 1,600 320,000
03 A& 2 0Hb| 2,304 2,160 144
OJI2EoE B =X AIZL20H|
320,000,000& * 0.72% 2,304
oYUM Z PG TAIDIBIRS 9,937,183 10,355,086 AN417,903
C=E 12m0| 2t SAIHEEZ W& 2,278,015 3,451,960 AN 1,173,945
T Z2I|EAIE E2EXA 18,070 18,730 A 660
201 Bt A H| 18,070 16,690 1,380
01 AP 2t2l bl 14,070 14,070 0
Ot =2H| 4,470
OZAHECRH MEE ARE 2,070
-2 A= Xl (A4) 21,000& = 5&HXF = 128 1,260
OIESIAEE 810
A3 70,0003 « 104 = 33 210
oIED| EX 100,000& * 64X+ 600
OMLHEH AR2E 2,400
-HXEAIEYH 260,000& * 54 1,300
-Tell EY 220,000& = 54 1,100
ONEaH? T2HSE EEIAMN L ANEEZS
PNE=2RIDN 800,000& = 12& 9,600
02 35249t 4,000 2,620 1,380
OEXOIEHEEQRA U2 S HIEHH KA
2l 296
O&E XK= AL 3,700,000 * 8% 296
(OPNE=2=X=0:] 1,286&3 * 120 * 240 3,704
Il &2 HYESX 24 204,210 307,351 A 103, 141
401 AIEHIL 20| 204,210 307,351 A 103, 141
01 A& HI 204,210 305, 191 A 100,981
OJ] E2HUSK B4 204,210
OEXIOHHI 200,000, 000& 200,000
OoOx&Exx3 4,210
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2% BYUNE AB CAIIMZA
S = 12m0l2+2) ANHEEZZ WA (&2 &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
ZEErE
200,000& = 5& X = 2J40| & 2,000
-=EEELsrE 372,000 = 5Z X| 1,860
-sJ0ld T 70,000& * 5 X| 350
s AdAMHEFA(A3-12098) =24 15,000 0 15,000
401 Al HIL 200 15,000 0 15,000
01 Al &bl 15,000 0 15,000
O & Al & HHI 15,000,000& 15,000
He2s HFOIMER(A2-1158) T2 & 201,440 100,900 100,540
1 A& HI & 28I 201,440 100,900 100,540
01 A& HI 200,000 100,000 100,000
© Z Al (L=120m, B=8.0m) 200,000,000 200,000
03 Al 201 Y] 1,440 900 540
OAl& 20| 200,000,000& * 0.72% 1,440
29 0|d 2XNY2AH(A3-12803) T2 MW H 161,152 20,000 141,152
401 Al Bl 20 HI 161,152 20,000 141,152
1 A& I 160,000 20,000 140,000
© 2 AHHI (L=100m, B=6.0m) 160,000, 000& 160,000
03 AlE 201l 1,152 0 1,162
OA& 20U 160,000,000& * 0.72% 1,152
Ho & SRFEHA(A2-1833) T2 ME 221,512 0 221,512
401 Al HI L 20| 221,512 0 221,512
01 Al& bl 220,000 0 220,000
O & Al & H I 10,000, 000& 10,000
© Z AkH| (L=95m, B=8.0m) 210,000,000 210,000
03 Al& 201l 1,512 0 1,512
OAl& 20| 210,000,000& * 0.72% 1,512
28sS SESFRE(A2-2023) 2L 10,000 603,780 593,780
401 Al HIL 200 10,000 603,780 A 593,780
Al & H| 10,000 600,000 A 590,000
O & Al & HHI 10,000,000& 10,000
O/ H 0|22 (A2-1256211) 204 557,491 654,095 N 96,604
401 Al HI YL 2 0HHI 557,491 654,095 N 96,604
01 A& HI 554,000 650,000 A 96,000
© Z AtH| (L=287m, B=6.0~8.0m) 554,000,000& 554,000
03 Al 201 Y] 3,491 4,095 A 604
OAl& 20| 554,000,000& * 0.63% 3,491
2= CAHEZ2(A3-27) HE [t 23 H] 80,000 0 80,000
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L= B
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= St TAlIDIBrEH
= 12m0182) S AL

2 e

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET

401 A EHI L 2O 80,000 0 80,000
01 Al&HI 80,000 0 80,000

© EX 01 & Hi 80,000,000& 80,000
225 28I (L1-4108) S2ME 200,000 13,290 186,710
401 A& HIZ 201 Y] 200,000 13,290 186,710
01 A& HI 200,000 13,290 186,710

OE X bl 200,000, 000& 200,000
=S4 0lsel 2(A2-12425) T2 A 201,440 0 201,440
401 AlEHI 2 2 THH| 201,440 0 201,440
01 A& HI 200,000 0 200,000

© 3 AtHI (L=130m, B=8.0m) 200,000, 000& 200,000
03 Al =2 0HHI 1,440 0 1,440

OA &SI 200,000,000& * 0.72% 1,440
Ho S& FRAME A (22-125) T2MH4 10,000 0 10,000
401 Al HIZ 201 8] 10,000 0 10,000
01 A& HI 10,000 0 10,000

O & Al & A HI 10,000, 000& 10,000
=28 s AOIOIE H(A2-2785) T2 & 55,540 0 55,540
401 AIEHI L 2 CHYI 55,540 0 55,540
01 A& HI 55,000 0 55,000

O & Al & A HI 5,000,000& 5,000

© 3 Attl(L=15m, B=8.0m) 50,000,000& 50,000
03 Al2 S THHI 540 0 540

OAIE 2 HHI 50,000,000& * 1.08% 540
s Yot0tS FH(43-10058) S 2 M4 20,000 0 20,000
401 AIEHIZL 20HEI 20,000 0 20,000
01 A& Hl 20,000 0 20,000

O & A& AHHI 20,000, 000& 20,000
§E Ao FH(L2-445) S2HHE 322,160 0 322,160
401 Al HIZ 201 I 322,160 0 322,160
01 A& HI 320,000 0 320,000

O & A& AHI 20,000,000& 20,000

O EX 04 dl 300,000, 000& 300,000
03 AIE =20 HI 2,160 0 2,160

OA &SI 300,000,000& * 0.72% 2,160
Sz 7,659,168 6,903, 126 756,042
CE2EH ¥ RAES 3,617,175 3,485,948 131,227




SN Mg ALDED
M RAUTS B TAIIBEY
& E2ae (22 &d)
A - ER(EN) - AR - B of & o4 SSa HIDZ2
101 @l H] 4,283 3,777 506
04 JIZtNZ22XNSE+ 4,283 3,777 506
OZ& wsSEITA 4,283
ooy 65,3802 * 32 » 2& * 1004 3,923
O2tALH|
3,000 = 23| * 32 * 2& * 10002 360
201 LBt2 S 335,884 330,179 5,705
01 At 22l bl 46,860 47,292 N432
O 3H €HE 223 4,652
OZ=2H ZEHdl 83 4,652
-E26 2X(A1) 27,500% = 58 * 63 825
-ZE26 2XI(A0) 66,0008 * 18 » 63 396
-22H ol 148,400& » 104 = 12& 1,781
-22H 23 55,0008 = 54 = 63 1,650
O==2d ZME HAH & =2 FHl SX2 20,000
O=4tD| 550,000& 100 = 20 11,000
ogxxt 450,000 = 10H = 20€ 9,000
O HFZAL & A=HZES X
800,000& 104 = 123 9,600
OAx72 &2 EXAEE 500,0008 * 102X 5,000
oIt === 6,240
oggs XNotx= 260,000& * 12& 3,120
OgY-ddHE 260,000& = 123 3,120
O=&&Hl HIIBA =2 1,368
OggX-adHE 801,000 801
Oo8gs XNotit= 567,000& 567
02 S3=29Hl 289,024 282,887 6,137
QJISE AFRA HHetl 1,489
ORFUH(SR) 827% = 304 = 60 1,489
O==2H M=XLES 0lFJ A=2H| 1,498
OsFU(FLSR)
1,4983 = 50 = 204 + 100 1,498
O==2dH4l &4l +clyl 1,000
OuIHII, HEII 500,000& * 28 1,000
OXGSHXE JIAEH =X 7,737
ORRUH(3R) 1,286% = 4504 = 3% 1,737
OogdI 88 & el 1,000,000& 1,000
Otf=8Z #& % =c/i 5,000,000& 5,000
OXotXtE =t &gt KX bl 5,000
O=&g 500,000& * 50 £ 2,500
Ot & et 500,000& * 5 & 2,500
OFHAZTZ (M4 )2tel CCTV 3223 5,400




A AYR AE8uSH
M DEUAS AS TADIUEM
el T2
SA-EY .S (BH) - NEANY - BES 0 4t 04 il
(OFSPIETa=] 50,000 = 304 » 12& 1,800
oglEe= 100,000 = 304 = 128 3,600
OHA-AH2t HYE 141,600
(OFSPIETE=: 11,000,000& * 12& 132,000
(OFSE=F-IPaBor= 800,000& * 12& 9,600
onsH< 9,000
(OrsPIETE=: 750,000& = 12& 9,000
Og9es SE0IE Mgz g4 2,884
(OFrsPIETE=: 550,000& * 4& 2,200
Oske= 57,000& = 12& 684
odttdzg sS4 EHI 1,392
(OFSPIETa=; 150,000& * 4& 600
oste= 66,000 * 12& 792
OXNYHEH NESAHEEAAEH 6,000
oste= 500,000& = 12& 6,000
ootz dZT 11,760
(OFSPIETE=: 65,000& = 74 = 12& 5,460
oslEe= 75,000& = 7N = 128 6,300
ORAA ST EZ A2 XASIHAIAE 34,560
(OFrsPIETE=: 40,0003 * 12004 = 128 5,760
OCCTVal 2= 200,000& = 1290 = 12&8 28,800
O=UZ X9e=s Hel HE & S24A4 56,000
O3 1,200,000& = 12& 14,400
O&dl=E 22 5,200& * B00E * 10& 41,600
OXt&ERZHI 1,286& = 120 * 240 3,704
2 | 48,018
NET] 48,018
ONATZELE N 45,510
(OPNE=PNRSIE=DNE= 231,000 = 60K 13,860
OZHorA®E 14,000& * 1,500% 21,000
OANHE 5,000& * 250 1,250
o2l 23,000& * 200m 4,600
O2MM(MA) 45 16,000& = 300m* 4,800
oxzsE4 & otd™2AeE XM 2,508
O3 ALY E X & 60,000& * 1JH 60
OSAIS H A 25,000& * 204 500
OSALE ctuta 13,200 * 304 396
O&X dsE 15,000& * 30H 450
O®g 21s 17,600 * 204 352
Ozllst e
15,000& * 1004 * 5& 750
305 that 2 S 5,000
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M DHUMES 9B TAIIUEAM
ool S22 (=& J)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
01 Hia=s 5,000 5,000 0
OSZANEE W22 olsh Tloll oiat
500,000& = 103l 5,000
307 gl2tol & 64,800 64,800 0
05 RIZHRI & 3 64,800 64,800 0
OXotE &t 1,400,000& » 10HA + 123 16,800
Os2Z = Hel SNE=H| 48,000
O=z=0 £ AF¥ &4l 18,000, 000& 18,000
OHFEAMNEZE 5 E& 2,500,000& = 123 30,000
401 AIEHIZ 28I 3,159,190 3,034,174 125,016
01 A& tl 3,148,575 3,023,122 125,453
O ¥ TZANEE RAEFAL 2,670,000
O0tAZE ATIE 300,000, 000& 300,000
OXt& &M 50,000,000& 50,000
OE& ¢ A RRNE= 50,000,000& 50,000
OFIF=E PN 710,000,000& 710,000
O=s=z2s:8=+ 360,000, 000& 360,000
OEZUEAIEE RANES 100,000, 000& 100,000
ONE0ESTA ANEE SANE*
100,000, 000& 100,000
OFQALEE 0tAE IM2D|
1,000,000, 000& 1,000,000
OLAZANE(NA, 20 S) SR 22Ul
100,000, 000& 100,000
OF2 T2H (M= S) FUIALZ (L=165km,
23|) 150,000, 000& 150,000
O EHl ¥ |AZcIAtY AAEAH
2,770,000,000& =* 3.15% 87,255
Oc2oY SY+22(FAHSY)
450,000& = 102 X 4,500
OER0IY SY+22(2E5Y)
350,000& = 102 X 3,500
O4&HHE CCTV & HZE RAE=>
85,000& = 2804 ~ 123 28,560
o=k ¥ sHEZZ 022X B4 104,760
O&EXIDH bl 100,000, 000& 100,000
OAz+2= 4,760
LHBISE
100,000,000 * 2JH212 = 0.11% = 103l 2,200
—2EEYLaR 372,0002 * 52X 1,860
-S0I8 =T 70,000& = 10X 700
03 Al S THHI 10,615 11,052 A437
EZ2 ¥ EZANEE RAES AIEZR20UH
2,948,560,000& * 0.36% 10,615




agx A8usn
ogEAS A TADIBEH
Tzze

= _ = s
SA - - ERA(E) - NTAY - BES 0f o il Hl D52
A2 KNI ALY 3,656,933 1,882,958 1,773,975

401 AIEBIL 2 CHEI 3,656,933 1,882,958 1,773,975
01 A€ dl 3,647,377 1,876,416 1,770,961
Og4 Xidt2el MIEEHIZAHL=100m,H=1.5m)
30,000,000& 30,000
OYH BY2(193-2) ME U 0tS0IY =23
A 200,000
Oodd 312 HMAE =S723AM 70,000,000 70,000
Odd &2 MHME =723 AM 80,000,000 80,000
Odd Zdel DS AE £ E2SFSAM
60,000,000 60,000
Oodd 2312 M =723AM 80,000,000& 80,000
ogd FHel(576-1)HE SRS A
90,000, 000& 90,000
Ogdd =ZHel(800)NAE SR SA
240,000,000& 240,000
Odd 5322 ME & s2E2SA
200,000,000& 200,000
Odgd el MEs73AM 150,000,000 150,000
o0l =12l &2 & Hl 3 AH(L=240m,B=3.0m)
80,000,000 80,000
O0Id &22/(26-2) =2 X &3 AH(L=100m,B=3.0
m) 60,000,000 60,000
O0& Jlgel =2 X &3 AH(L=120m,B=3.0m)
15,000,000 15,000
o0l stEel(R7-1HE *H=73A
110,000,000& 110,000
OOl el (253)H& =73 At
60,000,000& 60,000
OOl 2cl(588-3)HI&E =S Z A
100,000,000 100,000
o0l 2g22 =2 |73 At 35,000,000& 35,000
OO0l ofgiel =2 & =2 F I SAHL=150
m) 35,000,000 35,000
OO0l =22/(48) =2 Z & S AH(L=80m)
25,000,000 25,000
O0& 312 NESISA 87,300,000& 87,300
Ol 2&cl NASTSA 52,700,000& 52,700
OO0l HdU2el ME=SFSA 57,800,000& 57,800
O0l& 232l AMA=SFASA 48,900,000& 48,900
OO0l Jlgel s2=F3A 17,500, 000& 17,500
Old 2312l s2SA3A 39,200,000 39,200
OO0I& Jr2el AAE=SFSA 78,800,000 78,800
ODld =22 ME=s73AM 21,300,000 21,300
OO0l 7&2el AMA=STASA 25,400,000 25,400
ODI& JteHel NESISA 30,000,000& 30,000




A AR ALZNEY
HM: DEHLES Q& TAIIBEA
o9 T2z (&9 &)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
O0lg 2212 MEERZ2A 23,900,000 23,900
oO0lY 2822 MHIHE=2RZA 33,600,000 33,600
OO0l D122l MEESRZA 22,700,000 22,700
QI BtH22] M&E=7 2 AHL=315m,H=1.5~2.0
m) 130,000,000 130,000
OJte QIxtel OtAR M| 2 AHL=960m,B=3
.0~5.0m) 80,000,000 80,000
og Jt=el s2ZE T AHL=150m,8=3.0m)
20,000,000 20,000
OYY JtiHEl OFSer2 OtA R SN I ZAH
L=900m,B=3.0~5.0m) 85,000,000 85,000
oge 2F121(192-1)YH Ma X2 AH(L=12m.B
=5.0m) 50,000,000 50,000
OYY 5522/(435) =2 I & 2 AH(L=270m,B=3.
Om) 50,000,000 50,000
OYY D232 HEDXNZ OlAZE HUMP)| =2
Ab(L=1.3km B=3.0~5.0m) 70,000,000 70,000
0dY Ne22/(563-7) £ 2FH| 2 AHL=80m,B=3
.0m 50,000,000 50,000
O=22 0ts1m IMItE 2 AH(L=14m)
300,000,000 300,000
OFEYS 85 OtA2HU M 2|2 AH(L=100m,B8=3.0
~4..0m) 15,000,000 15,000
O%s 29U B2 D2 AHL=100m
,B=3.0~4.0m) 30,000,000 30,000
QAL Z 81 2A~912 &&= H| 2 AHL=110m)
15,000,000 15,000
O A 2 (34~68-1) Q1 & A H| 2 AH(L=740m)
70,000,000 70,000
OMA S (30-2)0tA RS M 2| 2 AH(L=160m,B=2.
0~5.0m) 15,000,000 15,000
O2HS(212-1)0tA 2 M 2| B AH(L=100m,B=4
4.0m) 15,000,000 15,000
O22=(783)2 1A =2 =722 AH(L=40m,B=3
.0m) 10,000,000 10,000
OR== SHUZES2XH MUZ OFARUNY
27| 2 AH(L=400m,B=5.0~6.0m) 40,000,000 40,000
OXNES HEOS OlA2HUM 2| 2 AHL=400m,
B=3.0m) 35,000,000 35,000
O27A2 FUSJAAMNG(SH) 200,000,000 200,000
OARR XYIRI| ALY Al Al A H
3,504, 100,000 * 3.09% 108,277
03 Al & 2 HH 9,556 6,542 3,014
O A& 20| 3,539, 100,000 * 0.27% 9,556
ng 2 ALE X2 385,060 1,433,320 A 1,048,260
401 Al HI 2 200 385,060 1,433,320 A 1,048,260
01 Al&HI 382,900 1,425,490 A 1,042,590
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SN Mg ALDED
M T - Mo Hzst 78
Sl T - THOH ol (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
ONM&Es QA R2RTU(ER)
1,286& = 1604 = 30 6,173
0=t ¥ sHEEZZ HExy 59,500
OM&ZH B2 (EaHIY0IH)
400,000& = 85CH 34,000
OM&ZEH EdH RSl
100,000& = 33| = 8504 25,500
206 M= Hl 2,400 2,400 0
01 = bl 2,400 2,400 0
O=dlitizs KM 2,400
OE 2% (0.8m*12m) 20,0002 = 208 400
OetMHOIE 2 43 2,000,000& 2,000
AR S3AK SUAF XD HUI S A 160,000 0 160,000
= 80,000
< 24,000
Al 56,000
401 AIEHIZ 201 8I 160,000 0 160,000
= 80,000
< 24,000
Al 56,000
01 A& Bl 160,000 0 160,000
O & Al & AHlIHI (L142m,H=15m) 160,000, 000& 160,000
= 80,000
< 24,000
Al 56,000
Ot& - HH=AlE JH& 2,201,788 1,411,442 790,346
BH==Ald EHl 2 JFX 22 370,411 398,050 AN 27,639
401 Al Bl 28I 370,411 398,050 A 27,639
01 A& Hl 367,826 395,314 AN 27,488
O0tsdt=% FH & |FXZelAY
140,000, 000& 140,000
O©JE9H Als2l =2 U3 AHL=110m)
50,000,000& 50,000
OO0l M oHg1el =2 Hudl=AH(L=160m)
24,000,000& 24,000
O8Ys 55HI L& Bi=2 HHl 3 AHL=70m)
15,000, 000& 15,000
OoEgd A2 =2 &l S AHL=30m)
20,000,000& 20,000
O29H 2=125d 22 &Yl 3 AHL=200m)
20,000,000& 20,000
OYH™ Aat2e| B2 & Ul S AHL=150m)
30,000,000& 30,000
odyd x| =2 FHl3 AH(L=260m)
60,000,000 60,000




SN Mg ALDED
M THE - THO 2l Hz3 8
SH9l: BHE - B4 AIE WA (298 R)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
Oth==2 ZTHlIS AL & AIEHbI
219,000,000& * 4.03% 8,826
03 A& 2 0HbI 2,585 2,736 AN 151
Oth=2 JUIS AL A& 2U8I
359,000,000& * 0.72% 2,585
ot HHl & S22l 454,104 438,611 15,493
201 Bt H | 20,000 20,000 0
01 At 22l Yl 20,000 20,000 0
o22s+ itz 20,000
O=4D] 550,000& * 1CH = 20 11,000
OgZxt 450,000 = 1CH = 20 9,000
401 Al HI YL 2 0HHI 434,104 416,571 17,533
01 A& HI 431,000 413,813 17,187
OdlE KA 22 At 250,000,000& 250,000
FQ oldH M=E=ZY(ALI]) 40,000,000 40,000
Ol RAHAZ((IHAIE S) HIAHAE
500& * 43,000m x 23] 43,000
oYged(8d8s2) =SS A (L=52.0m, H=3.
om) 32,000,000& 32,000
oYged(8d8s3) =222 A(L=111.0m, H=3
.0m) 66,000,000& 66,000
03 Al&E 201l 3,104 2,758 346
Oodtd KR 22lAYE AlE 20|
431,000,000& * 0.72% 3,104
A0tE HHIALE 1,377,273 574,781 802,492
401 Al B 20 HI 1,377,273 574,781 802,492
01 A& HI 1,372,491 570,821 801,670
Ox0td RAE= 80,000,000 80,000
OAEAGHE AUl 3 AHL=200m, H=2m) 84,856
O S AtH] 80,000,000& 80,000
O& A& A 80,000,000& * 6.07% 4,856
OXEeHII™ HHlZAHL=200m, H=2.0m) 21,298
O3 Att] 20,000,000& 20,000
O& A& AHI 20,000,000& * 6.49% 1,298
O A5t HHl3AHL=220m, H=2m) 74,249
OZ2 Akt 70,000,000& 70,000
O& A& A HI 70,000,000& * 6.07% 4,249
O™ AcIE Foll 273 AHL=500m, H=2m) 121,958
O3 AtH] 116,316,000& 116,316
O& A& AHHI 116,316,000& * 4.85% 5,642
OME ZAGHE HH|IZAHL=60m, H=2m) 21,298
O3 Akt 20,000,000& 20,000




SN Mg ALDED
M THE - THO 2l Hz3 8
S of& - i AlE JHA (&2 &)
SH-HH . B(SH) - HBAMY - B2 ofl &t o SSa HDE2
O& A& A HI 20,000,000 * 6.49% 1,298
OOl AGHE 2ol =723 AH(L=218m, H=2.5m) 55,157
O3 Att] 52,000,000& 52,000
O& Al & Al 52,000,000& * 6.07% 3,157
OFclAotd $=ol= 72 AHL=246m, H=1.0~2.5m
) 59,400
O3 Att] 56,000, 000& 56,000
O& Al & Al bl 56,000,000& * 6.07% 3,400
O2wWAGHE #=dl= 322 AHL=370m, H=1.0~2.0m
) 91,221
OZ2 Akl 86,000, 000& 86,000
O& A& A HI 86,000,000& * 6.07% 5,221
oOgeAold o222 AHL=370m, H=1.5~2.0m
) 82,735
OZ2AHH] 78,000, 000& 78,000
O& A& A HI 78,000,000 * 6.07% 4,735
OEO0IDtABHA ZoH =272 AHL=580m, H=1.5m) 74,249
O3 Att] 70,000,000& 70,000
O& Al & A I 70,000,000& * 6.07% 4,249
O=3A0td o= 72 AHL=450m, H=1.5~2.5m
) 106,070
O3 Att] 100,000, 000& 100,000
O& Al & Al 100,000,000& * 6.07% 6,070
on0le £& 222 =R Z2AHS2EN L=400
m) 300,000
OZ2 Akl 300,000, 000& 300,000
O&221(399) AdHA AUl Z2AHL=200m)
100,000, 000& 100,000
Ox22l(51) Aot® HdlZAHL=200m)
100,000, 000& 100,000
03 A& 2 0HH] 4,782 3,960 822
OAGId SANEL AIE20H|
1,328,316,000& * 0.36% 4,782
ot=2tel 30,050 20,050 10,000
Aot 25 22| 30,050 20,050 10,000
KXot AIEZ2 22l 30,050 20,050 10,000
201 Lt 2| 5,050 5,080 0
01 At 22l ] 250 250 0
OXlots =E2=3HUL Mz MY 72
2,500& = 1004 250
02 352494l 4,800 4,800 0
OXole BX2A= M2
6,0008 * 25004 « 12& 1,800




AN dEF ALNEN
el

= G2t
el Xot: 25 2 (S &2)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
OXdlse BX2A= SMR3
10,000€ = 25014 = 12&€ 3,000
401 Al HI L 2 0HHI 25,000 15,000 10,000
01 Al&H| 25,000 15,000 10,000
OXots 24X H3HLI
2,500,000& = 204 A 5,000
OXolse BEX2=2 HHIALY 20,000,000& 20,000
HHSHAL (NS HEDNED) 418,257 390,114 28,143
A2 338,068 328,841 9,227
Pallsl! 338,068 328,841 9,227
101 2121 d| 338,068 328,841 9,227
03 2IAHAZZXHE = 338,068 328,841 9,227
oz« 329,768
ods(or2) 142,139
-25E X} 2,846,840 » 1H = 128 34,163
-174 Xt 2,422,040 * 29 * 128 58,129
-169 Xt 2,368,940& * 1H = 128 28,428
=54 Xt 1,784,840& * 1% * 128 21,419
=& 154,535
s 3,120
ol 2 Xt 40,0003 * 598 = 12& 2,400
=Hl = 20,000 = 3¥H » 12&€ 720
—HEE G 100,000& = 12& 1,200
-2 LeY
17,8003 * 20Al2F » 5 » 12& 21,360
o222 4eg
17,800 * 8Al2F * 5 » 30& 21,360
-5d224Y
17,800& = 8Al2F = 58 x 100 71,200
ERPNESE=, 94,960 * 5 x 20 9,496
=5Y 120,000 * 5¥ = 128 7,200
&AL 70,000 = 5% x 12&€ 4,200
-HEFOHY| 1,539,840& * 5H x 23] 15,399
OXUEsx2(nsed)
398,500 * 1% = 43| 1,594
OJ|<=¢ 150,000& * 5% x 43| 3,000
OJFA X & Hl 175,000& = 5% = 12& 10,500
O=&tl 150,000& * 59 = 12& 9,000
[@InE=3:]! 150,000& * 5 x 128 9,000
OS2 A S| 4,400
O =003 el 8,000& * 5% * 60 2,400
O=aoHCH= 8,000& * 5Y * 50 2,000




SN Mg ALDED
MM HNSHBH (MY HENEW)
chel: ol gyl CEEEED
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
OR A& X Xz bl 500,000& * 59 2,500
oxz2Z+3d 1=l 1,400
o&gs 90,000& = 59 450
[@F=3=] 15,000& = 594 75
O2otX gt 60,000& * 594 300
O& st 15,000& = 59 75
ogsts 100,000& * 5Y 500
Jl=23 bl 80, 189 61,273 18,916
Jl23Hl 80, 189 61,273 18,916
201 Bt A H| 45,749 34,333 11,416
01 At 22l Yl 38,308 27,092 11,216
OJI=2gdR=3AH| 500,000& *» 299 14,500
OJI=ZZHI(S&HI)
8,000 * 31 % 82 x 12& 23,808
02 332494l 7,441 7,241 200
oRER2 5,281
Ot 300& * 6,66621 2,000
OsII 1,930& * 1,700AH 3,281
O#H™&EHH RXEE=Hl 27,000,000& * 8% 2,160
202 04 b 27,840 22,680 5,160
01 2LHOHI 27,840 22,680 5,160
OJZ=3 4l
20,000& * 20 * 8 * 128 * 60% 23,040
ONAESHAN(HIAFEH)
200,000 * 2H = 12& 4,800
203 ¥R =&H| 5,700 4,260 1,440
04 BH2AAREAY| 5,700 4,260 1,440
OJ| = 5,700
03021 0|5t 4,800,000 4,800
O30 =1t 5,000& * 15 x 12& 900
405 XH&HF S HI 900 0 900
01 AL 2B F SHI 900 0 900
O&3| 400,000& = 1CH 400
ot g J| 500,000& * 1CH 500
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2N
X ZH -
L= B

el

M. o (BH) - HSAY - BAS il HDS2
H¥SIHH (AR A=51) 80,720 42,359 38,361
&t 80,720 42,359 38,361
=&l 80,720 42,359 38,361
201 LEt2 Y| 34,088 24,119 9,969
01 AR 22| bl 27,496 17,068 10,428
OJlegRsa A 500,000& 10,000
OJI=&Hl (S &)
8,000& * 22¥ * 8 16,896
O&=J gtz 50,000& * 1CH 600
02 33249l 6,592 7,051 AN 459
oRWR2 5,528
Ot 300& = 170 612
OsII 1,930& * 170S 3,938
oetsz 1,630& * 50 978
OHH AN H U= X I 1,064
Ool=D] 2,300,000 184
O&EX= AL 5,500,000 880
202 04| 42,432 14,040 28,392
01 2LH 0 HI 23,232 14,040 9,192
©J| =&l
20,0003 * 129 » 8Y =« 18,432
OMANEHIH(ERABE)
200,000& = 4,800
02 EHN Y| 19,200 0 19,200
O &N & & X 200,000 = 19,200
203 ¥R =&H| 4,200 4,200 0
04 EANSHLRE=XH| 4,200 4,200 0
OJ|l=H (25021 0/5t) 350,000 4,200




